
 
	
   	
  

Luke Hanratty University of  Birmingham 1 

Upda&ng	
  my	
  AOD	
  task	
  



 
	
   	
  

Luke Hanratty University of  Birmingham 2 

 / [GeV/c]tp
1 2 3 4 5 6 7 8 9 10

t
1/

N
ev

.d
N

/d
p

0.9

0.95

1

1.05

1.1

Corrected K0Short Yield 00-90%



 
	
   	
  

Luke Hanratty University of  Birmingham 3 

 / [GeV/c]tp
1 2 3 4 5 6 7 8 9 10

t
1/

N
ev

.d
N

/d
p

0.9

0.95

1

1.05

1.1

Corrected Lambda Yield 00-90%



 
	
   	
  

Luke Hanratty University of  Birmingham 4 

 / [GeV/c]tp
1 2 3 4 5 6 7 8 9 10

t
1/

N
ev

.d
N

/d
p

0.9

0.95

1

1.05

1.1

Corrected AntiLambda Yield 00-90%



 
	
   	
  

Luke Hanratty University of  Birmingham 5 

MCTruth
Entries    1.044306e+07
Mean    2.512
RMS     2.505

 K0 Mass (GeV/c^2)
0 5 10 15 20 25 30 35 40 45 50

1

10

210

310

410

510

610
MCTruth

Entries    1.044306e+07
Mean    2.512
RMS     2.505

MCTruth
cTauPDG
cTauPDGCent
cTauFitPar
cTauFitParCent
cTauPDGFunc

MCTruth
MCTruth

Entries  1785094
Mean    6.645
RMS     6.727

) (GeV/c^2)-π M(p
0 5 10 15 20 25 30 35 40 45 50

210

310

410

510
MCTruth

Entries  1785094
Mean    6.645
RMS     6.727

MCTruth
cTauPDG
cTauPDGCent
cTauFitPar
cTauFitParCent
cTauPDGFunc

MCTruth

K0s	
   Lambda	
  

MC	
  Generated	
  
PDG	
  Life&me	
  


